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Q1) Attempt any two parts of the following. [2 × 5 = 10]

a) What is unit operation in industry? Explain any one unit process.

b) Why is particle characterization important?

c) What are the two types of particle size analysis? Explain the same in detail.

Q2) Attempt any two parts of the following. [2 × 5 = 10]

a) Write the short note on three laws of crushing.

b) State the size reduction equipment and its classification.

c) What is a rotary knife cutter and its use?

Q3) Attempt any two parts of the following. [2 × 5 = 10]

a) State the Kick's crushing Bond's law and its applications.

b) What is mechanical separation and its uses?

c) What is meant by screen analysis? Write the type of screening equipment?

Q4) Attempt any two parts of the following. [2 × 5 = 10]

a) What is filtration and its classification?

b) Write short note on following.

i) Gravity classifiers

ii) Sorting classifiers

c) What is cyclone separators and its uses?

Q5) Attempt any two parts of the following. [2 × 5 = 10]

a) Classify the conveying equipments and explain chain conveyor.

b) What is a ribbon blender used for?

c) What do you mean by fluidization?

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions. Attempt any two part of every questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{O`o &

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| H$m CÎma X|& [2 × 5 = 10]

A) CÚmoJ ‘| BH$mB© g§MmbZ ³¶m h¡? {H$gr EH$ H$m dU©Z H$s{OE&

~) H$U bjU dU©Z ³¶m| ‘hËdnyU© h¡?

g) H$U AmH$ma {díbofU Ho$ Xmo àH$ma ³¶m h¡? dU©Z H$s{OE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| H$m CÎma X|& [2 × 5 = 10]

A) Hw$MbZo Ho$ VrZ {Z¶‘m| na g§{já {Q>ßnUr {bI|&

~) AmH$ma KQ>mZo dmbo CnH$aU Am¡a CgH$m dJuH$aU ~VmBE&

g) amoQ>ar MmHy$ H$Q>a ³¶m h¡ Am¡a BgH$m Cn¶moJ ³¶m h¡?

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| H$m CÎma X|& [2 × 5 = 10]

A) {H$H$ H«$qeJ H$mZyZ ~m|S> bm° Am¡a CgHo$ AZwà¶moJ H$m dU©Z H$a|&

~) ¶m§{ÌH$ n¥W³H$aU ³¶m h¡ Am¡a BgHo$ Cn¶moJ ³¶m h¢?

g) ñH«$sZ {díbofU go ³¶m VmËn¶© h¡? ñH«$sqZJ CnH$aU Ho$ àH$ma {bI|&

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| H$m CÎma X|& [2 × 5 = 10]

A) {Zñn§XZ ³¶m h¡ Am¡a BgH$m dJuH$aU ³¶m h¡?

~) {ZåZ{b{IV na g§{já {Q>ßnUr {bI|&

i) J«o{dQ>r ³bm{g’$m¶a

ii) gm°{Q>ªJ ³bm{g’$m¶a

g) MH«$dmV {d^mOH$ ³¶m h¡ Am¡a BgHo$ Cn¶moJ ³¶m h¡?

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| H$m CÎma X|& [2 × 5 = 10]

A) g§XoedmhH$ CnH$aUm| H$mo dJuH¥$V H$a| VWm MoZ H$Ýdo¶a H$mo g‘PmB¶o&

~) [a~Z ãb|S>a H$m Cn¶moJ {H$g {bE {H$¶m OmVm h¡?

g) ÐdrH$aU go Amn ³¶m g‘PVo h¡?
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